LE

AL B B R O KR RX

Tk 31 4% 4 A 22 H

#% % | EHREEEBET (2)
1% At | RIKBEEE Y2 — (CEEBHEERMA)
HA il ~ ¥t 32% 1 A 31 H ¥ & # = _——
= jii ) 9,320,000 M i 1K i BR {iffi & 8,301,000 M
¥ T M@ #® 9,320,000 M
A #L %8 () EHFOULEL
HENRIERE
® gl % £ 1 @ £ 2 @ £ 3 @ = 4 @ =i L
ZITEZE (¥) 8, 300, 000 K&
-E = ,= > . —
;*%)&#7’7/74 3 HY—E 8. 240 000 sk
(%) NEZEEE 8 270 000 g
(%) BEE 8 500. 000
) ABEE LA 7,720, 000 Kt
) BB 8, 264, 000 St
(=] > E
(W) B EHEKR 8 295 000 -
BET)—H—ER (¥) 8. 870, 000
(=] > E
(%) 1IBZEHEYME 8,214,000 R
b5 =

1. SERT. HERRUVHAHEERZEELEL,
2. [EEHO TEREL] X, ASNERBERR. BEINEZHXK,




LE

AL B B R O KR RX

TRg 31 % 4 A 22 H

# 2 | EREEEBRET (2)
15 Fr | RIKBEERE 2 — (ZHHEERMA)
# RS ~ FRE 324 1 831 H 3 E N B —_
R 9. 320,000 M 2 15 %1 B {f 4% 8.301, 000 M
F ® @ % 9,320,000
A #l, ] () A -] AVA R
Ba 0 R
® & = %z 1 & % 2 @ % 3 [ % 4 [ o =
B EREETS 8. 263, 000 etk
) ¥ > T—it 5. 445 000
ElLER
FERTRILER () 9. 000, 000
) BERT A 5 354 000
() REE= 8. 447, 000
%) B ERE 5 070,000 .
o & [ (BR) 5. 137000 -
&
AAEDE () 3 311, 500
i =

1. SERT. HERRUVHAHEERZEELEL,
2. [EEHO TEREL] X, ASNERBERR. BEINEZHXK,




LE

AL B B R O KR RX

Tk 31 4% 4 A 22 H

s % | mEeEEEET (2)
15 Fr | PIIKBEREE 2 — (CEHTEERMRA)
) = ~ TH 32 & 1 A3 A ¥ & N B —
= & 9. 320, 000 F B 15 51 IR 1% 8301000 F
F = @ & 9. 320, 000 M
A #L 5 (M) FEALFD LY
1560 RS
® & = %z 1 & % 2 @ % 3 [ % 4 [ o =
N 2 250,000
TIE () 8. 276. 000 4%
CHETA 7. 967. 000 o
=
B \EEE 2 256,000 st
== 3]s > —_
BERT— 785,000 s
7 =

1. SERT. HERRUVHAHEERZEELEL,
2. [EEHO TEREL] X, ASNERBERR. BEINEZHXK,




